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A & 0l & AF 2 E A A
20214 = 20l &t Xiots2te|l A4
A R =y
M Xot==2tel
¢l Xate Zel(Xst=2e2l) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fal=n. 47,026 335,902 A288,876
Xlot==2tel 30,526 335,902 A 305,376
Klot== 2tel(Xliot==2el) 30,526 335,902 A 305,376
Xot=2 88 2| 30,238 30,238 0
201 L2l 15,518 15,518 0
01 At 22l 7,170 7,170 0
Ogt=&H| 7,170
—XNot=0l28E= 1AM 2
75,0003 *48F A 300
— Not=HRFA =&l 6,720,000& 6,720
—Xot+= MEEEE ME S 30,0002 *504 150
02 =24l 8,348 8,348 0
O332= % HAl 2,948
—Xdts EXZ2EX(NES) SRS
6,000& x82 =122 576
~ XG40 RS2 DAMNES 2BE
380 250+ 12& 1,140
— Kot BI=ZZA QY 2ES
380 *350= *43] 532
—=EXE UsXA 2 282
700,000 = 1CH 700
OAI&E ZHI S X 2,400
—Aot=2x2=Y SAZ 4
800,000 *3H 2~ 2,400
Oxt& R A2l 3,000,000 = 1CH 3,000
202 Od4dl 6,720 6,720 0
01 = LH 4 bl 6,720 6,720 0
OXlct=HRF& bl 6,720,000& 6,720
401 Al HIZ 201 8] 8,000 8,000 0
01 A& HI 8,000 8,000 0
OLXNZHZS 1,600,000 *5H 2 8,000
ol Bl gl 288 305,664 A 305,376
801 OilHI I 288 305,664 A 305,376
01 ZeHoildl bl 288 305,664 A 305,376
Ououldl sl 288,000& 288
HREs(H4) 16,500 0 16,500
WEHH XIS (XIot==2tel) 16,500 0 16,500
HEHAH X = 16,500 0 16,500
704 HIE S 16,500 0 16,500
01 &= 16,500 0 16,500
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